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Mark  reading of volume, V on the diagram. (Imk)
4 mtzmofammkgﬂgmm:ﬁymdﬁgmﬁnllufmw.%enfuﬂuf

mercury its mass is 360g :
8) i. Calculate the mass of water that fills the density bottle. (§mks)

Mess 45q - 204 = 253
i, Cajcutate the mass of mercury that fills the density bottle. (Imk)
mags  360g - 209 = 3!-}-03

b) i. Given that the density of water is Ig/cmy’, calculate the volume of water that fills the density
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it. Give the volume of wry that fills the density bottle. k)
: L | 3
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iti. Calculate the density Eﬂ'ncr:ury. A G (2mks)
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5. a)Define force and state its SI unit S5cm (2mks)
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£ Unihk !\léuatnu-. v
_h) Differentiate between cohesive and adhesive forces. {2mks)
Cehesive fovcas Ave Aevees of afivachon betweew molecules of fh<
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between molecules of ATrereirt Kiwd.
6. List two factors affecting surface tension

= (Zmks)
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7. A body weighs 65N. Calculate its mass (g= 100K g) Sk
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8. Define pressure giving its S unit Cmks
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9. :i;l Below shows a liquid manometer being used to measure gas pressure contained in a small

i ;I{mﬂmmmacﬁngmmfanufmmm (2mks)
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it State why pressure at X is equal to pressure at Z. (1mk)
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.  Hi=10cm, atmospheric = 103000N/m® and densi i
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11. Figure below shows a iR pump.
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a) Naméthew!vethuwmdt&mthﬂdmwhmthepi&tmiswﬂedm

Opens — VNalva 7 }
Closes — Valve X
b) Explain why valve Y closes when the piston is pushed downwards. (2mks)
Pue 4o s Welghnt a-d e et Suna v:f- voec-en
Albova "1&
12. a) State the kinetic theory of matter.
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13. Figure below shows bimetallic strip 2 room temperature and the same strip at 100°C,
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metal A

i.  Compare linear expansivity vaiues of the two metals. (2mks)
Metal A has g L"E;f}h Linmea ¥ ‘E?CPGMIUH:’ ot

L= W3 Cbmpﬂfed o ™m<tal B

fi.  State how the two metals are joined together, {(1mk) ‘
E:j R E_‘t‘.ﬁ ;
fi.  State one spplication of the bimetaliic strip. {1mk)

T havmogta e fl.et"rftéa_l a ll:ﬂh‘c#nr .
i4. Givenrmmforﬂchnfﬁ\e ollowing. ??
i. In building contraction steel metal is used jo reinforce concrete. (2mks)
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. Ordinary glass tumbler breaks when hot water is poured init. - £ ik
Ut water heade the Inner walle of fhe glassr Mmaking it expane
Lopite The outer wall dees met, nassungs Woskpaods Dldket e,
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15. State one advantage of alcohol over mercury when as a thermometer liguid. (imk)

Alcde) Has o Lowt malheg poing (fraemdy poiut) used by mane
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2981k -2F3 = 28 °¢C

17. State the three modes of heat transfer. (3mks)
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+ Langhn. ©f tue ratevial (3mks)
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19. Explain why metals conduct heat faster gian son-metals. (2mks)
Mekale uce lbbotl atom Vibrahin auwd elechowng
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30. Give a reason why two thin blankets ase warmer than one thick bianket. {Imk)
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21. Give two differences between mass and weight. (4mks)
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